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\begin{array}{c}
1 \\
2 \\
3
\end{array}
\right)
>\,
A =
\left(
\begin{array}{ccc}
1 & 2 & 3\\
4 &5 & 6\\
7T&8 &9
\end{array}
\right)
\]

coooao




0000000 (0ooooon)

I

V]

b

I
~N &~ =
o Ut N
O O W

oooood

5 Mathematica O O [

OO00OOo000O000O00ooO00DoU0DoOdoD TgXO0hoobooooooooouooooooooo
00* 00000 Mathematice 0000000 DOO0ODO0OOOOOO

Mathematica 0 0 0 TeXForm 00 000 00O 0O M Mathematica 00 00 TeXForm 00 00O M TEX O
gobooboobogoo

000000 TgXO0OOOO0Oo0O Copy & Past 00D DOOOOO

6 DOooOd

0000000000000 000o0oO0DOO0O00000TXOOOOOooOoOoOO0O0o0o0O 3000
ooooo

O00: 0000 (itemize) D0O0O0O00DD0O0OO0DOO0OODDOO\begin{itemize} 0000000 ODODO

ood:

\item 00000000000 \end{itemize} 00O OO0O
~ 0o (TeX) ~N
\begin{itemize}
\item OO
\item 0O
\item OO

\end{itemize}

N J

00000
00 (00D0D0D0o0)

e [0
o [
e 10O

gooooo
gooo (enumerate) DDDDDDDDI:II:II:II:II:II:I[I[I[I\begin{enumerate}DDDDDDDD
O0O\item OOOO0OD0OOO0ODOOO0O \end{enumerate} 000000

* 0DO00000MO00D00000000000000.. 00000



s 00 (TeX) ~
\begin{enumerate}
\item OO
\item O
\item OO

\end{enumerate}

N J

ooooo
00 (Doooooo)

1. 00
2. 0O
3. 00O
gobooo

O0: 0000 (description) 0000000000000 ODODO \begin{description} JO0OOOODO
O0O0\itemJ0O0DOO0OO0O0DOO0ODOOO0OODO[000|000000DODOOOO O\end{description}
gooooo
/DD(TEX) ~N

\begin{description}

\item[0OOODOOODOOO] OO

\item[OOOOOO] O

\item[0OOOOOOOOOOOOO] OO

\end{description}

\ y

0ooon
00 (Doooooo)

oooooooooo oOo
cooooo o
cooooooooooooo oo

gobooo

10



